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Algebra 2CP Chapters 8 Fall Review Worksheet Name Period

Undefined Expressions

-—

. . 2 1.
For what value(s) of m is the expression % undefined?
_3 _1 3 _3 3
A. 2,0,1 B. 1,2 C. 2,1 D. 2
2 _
. For what value(s) of x is the expression ;xz _‘g‘xt‘; undefined? 2
1 1 o 1 1
A -2,0,2 B. —1,2 C. -2 D. -2
Multiplying and Dividing Rational Expressions
24mn 3.
18m?
3m 4mn 4n 4
A. 4n B' 3 C. 3m D. 3
6a+12 10 4.
5 a+2
A. 12 B. 24 C. 12a + 12 D. 24a
A 5.
x2—y°  x-—y
1 33 x+y 1
yx +y) B. == xy —xy* +y° C. y D. ylx —y)
m2
5n3 6
m
77.2
2
A. 5mn B. C. Lmn D. -
dn 5 n
2 +5x+4 2x+2 7.
¥+2e+1 x+4
1 x+ 42 _x+4
A. 5 B. 2 C. 2 + 17 D. 2=t 1)
a+b . a?+b? 8.
3 ’ 12
a+b 4 4 4(a + b)
A'4(a2+b2) B'a+b C'a—b D. a? + b?
482 — 36
8s% — 24s 9.
125 + 36
252 — 6s
s—3 _ s+3
A 3 B. 12s — 36 c.£+3 D. 3
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10. 10x2, 30xy?
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A. 30x2y2 B. 300x3y2 C. 10x
11. 3z + 12, 62 + 24

A. 18(z + 4) B. 3(z + 4) C. 6(z + 4)
12. 5p — 20, 15p — 60

A. 75(p — 4) B. 15(p — 4) C.p—4

13. 2 — 8t + 15,t2 —t — 20
A. t+3)t -5+ 4)
C. t—-3)t+5)t—4)

Name

D. 40x2y2

D.z+4

D. 5(p — 4)

B. (¢t + 3)(t — 5)(¢ — 4)
D. (t — 3)(¢ — 5)(t + 4)

Adding and Subtracting Rational Expressions

14, 10 4
g q
A. 10 +‘4e B. 14
pq* gp + 1)

4 9
15,
E+1 2k + D

13 17
A.2(k+1) B. 2k + 1)
16. 6n 3
n¢—-9 n+3
3 3
A'n+3 B'n—3
17. _m__ _ 2
m-—25 5—m
2m m— 2
A'm—5 B'm—5

C 10p + 4
pq

"R+ 1

C 6n — 3

"*nf—-n+12

D 10 + 4p
pq

*'n¢-9

D. 2m

(m — 5)%

Identifying Functions

18. | N |V

\ /w B. greatest integer
L] \ / | C. direct variation
D. quadratic

A. absolute value

A. identity
B. constant

C. inverse variation

A
Y

D. rational

Period

10.

1.

12,

13.

14.

15.

16.

17.

18.

19.
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20. Jdentify the type of function represented by y = V 16x.
A. direction variation B. quadratic
C. inverse variation D. square root

21. Identify the type of function represented by y = (x + 1)2 — 4.
A. square root B. rational
C. inverse variation D. quadratic

Solving Rational Equations

22. Solve —%— = 1

x— 2 5
A -7 B.5 C. 7 D.—,5,
23. Solvey+4=j.
A. -51 B. -1,5 C. =1 D. I
n 12— 4n
24-Solven—_—4+n——n_4 A
A —4,3 B. —-3,4 C. 4 D. 3
n _Tn—18
25.Solven_3+n— =3

A. 3 B. 6 C. 3,6 D. -3,6

Period

20.

21.

22,

23.

24,

25.



